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English Alphabet Test

The English alphabet test is based on the
English letters or alphabet being arranged in
a certain format. In this test, questions are
solved based on the formation of words by
the selected letters, finding the letters in the
pair of letters and between 2 letters, etc.

Some important facts related to the

English alphabet.

1. Capital/Small letters of the English

alphabet
Block letters A B CDTETFG
H1J KL M
Lowercase a b cdef
letters
g h i j klm
Block letters NOPQRST
Uu v wX Yz
Lowercase n op q r s t
letters

2. Vowels and consonants of the English
alphabet
(i) Vowel - There are 5 vowels in the

English alphabet, which are as
follows -
A EI,0O,U

There are 21
consonants in the English alphabet,
which are as follows —
B,C,D,F,G,H,JKLM,N,P,QR,
S, T,V,W, X, Y, Z

(ii) Consonants -

3. The place of letters in the English -
Alphabet is the first 13 and the last 13
letters of the alphabet are called the
first and second half of the alphabet
respectively. This location depends on
two sequences.

(i) First and second half of straight

sequence - In this sequence the
letters from A to M are placed in the
first half and the letters from N to Z
are called the second half.
Left to Right
ABCDEFGH
12 345¢617 8

«———  FirstHalf — &

N OPQRSTUVWIXY I

14 1516 17 1819 20 21 22 23 24 25 26
—_  SecondHalf

(ii) The first second half of the opposite
order - In this sequence the letters
from Z to N are called the first half
and the letters from M to A are
called the second half.

Left to right

Y X WV UTSRQPON
1 23 4 567 89 1011 1213
«————— First Half >

M LK IJI HGFEDT CEBA
14 1516 17 18 19 20 21 22 23 24 25 26

4——— Second halff ——88 —»

4. Finding the Position Order of Letters by
EJOTY and CFILORUX

From left
E J 0 T Y
5 +5 10 +5 _;ﬂ +5 =E +5 25
From left
C Fo L 0 R U X

L

3 3.6 #3943 12 +3 15 +3 18
f2,0 *= ; &

£33 21 3 Y4
SRR LA SERL AN
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Opposite Letter - Each letter in the English Ans. (d)
alphabet has an opposite letter. Sol. As per question
A 7 1+26=27 1234567891011 1213 14 15
B y 2425237 ABCDEFGHIJ KL MNO
C X 3+24=27 [ ;
D W 4+23=27 [ :
E Voo 5+22=27 16 17 18 19 20 21 22 23 24 25 26
F U  6+21=27 PQRSTUNMWX Y Z
G T 7+20=27
H S 8419=27 T
I R 9+18=27 I
) Q 10+17=27 Right Sixth
K p 11+16=27 ' )
L 0 12 +15 =27 iﬁth Ie:::' }fr;m I:f!;;rn E{rg’:'fh a;"p_hﬁbet: P 16th
M N 13+14 =27 ence etter to the right of P =

If the letter of the English alphabet whose
opposite letter is to be found, then the
corresponding number of that letter is
subtracted from 27. The number obtained
after

subtracting is the corresponding

number of the opposite letter.

Finding the letter to the left and right of

letters

e Whatever is on our right is the right of the

same letters and whatever else is on our

left, is the left of those other letters. like —
?BCDEFGHIJKLM(J

On the left

NOPQRSTUVWXY!Z
-1 :

On the right

Question Types

Type-l Questions Based on Alphabet Test

1. The position of the letters in the
direct sequence shall be -
Ex.1 Which letter is 6th to the right of the

sixteenth letter from the left in the
alphabet ABCDEFGHIJKLMNO
PQRSTUVWXYZ?

(a) F (b) Q

(c)U (d) v

Alternative Method

nth letter to the right of mt" letter from left in

English alphabet = (m+n)t" letter from left.
m=16andn=6

(16+6)t letter from left = 22™ letter from

left=V

2.
Ex.2

Position of letters in reverse order

If the English alphabet is written in
reverse order, then which letter will
be 13t to the left of the 3™ letter
from the right?
(@) c

(c)R

(b)

nth letter to left of m letter from your

(b) P
(d)L
Ans.
Sol.
right in reverse order of English
alphabet = (m + n)t" letter from right.
Here, mn=3andn= 13
= (3+13)™ letter from right = 16t

letter from right = P Ans.

Position of letters in the first half of
the reverse order

Under this, the first half of the letters
of the English alphabet i.e. letters
from A to M are written in reverse
order and the remaining half of the
letters are written as they are.
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Ex.3

Ans.

Sol.

Ex.4

Iy

l/
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If the first half of the English alphabet Ans. (d)
is written in reverse order, then As per question,
which letter will be to the left and 4321987 6515 14
seventh letter of the tenth letter from DCBAIHGFE O N
your right?
(@) C (b) E 13 12 11 10 22 21 20 19
(c) D (d) ) ML K JVvuTSs
(c) o |
. . | from left
According to question, 7th gth
13 12 11 1098765
M L K J IHGFE 18 17 16 26 25 24 23
RQPZY XW
4321141516 17 ) ] |
DIcBANO P Q from right !
t The eighth letter from the right is S
he |
S el | and the seventh letter to the left of
7th 10 th the letter S is M. So required letter =
M
18 19 20 21 22 23 24 2526
RSTUVWXY?Z 5. Number of letters between 2 letters -
Ex.5 How many letters are there in the
from the right
|

The 10t letter from the right is Q and
the seventh letter to the left of the
letter Qis D.

So required letter = D

Position of letters in reverse order of
multiple letter segments

If the first four letters of the English
alphabet are written in reverse order,
then 5 letters also in reverse order,
again 6 letters also in reverse order, 5
letters also in reverse order, again 6
letters also in reverse order, again If 7
letters are also written in reverse
order and remaining letters are also
written in reverse order, then which
letter will be the seventh letter to the
left of the eighth letter from the right?
(a) O (b) L

(c)N (d) M

Sol.

Ans.

middle of the eighth letter from the
left and the seventh letter from the
right in the English alphabet?
(a) 8 (b) 9
(c)10 (d)11
(d)
As per Question
12345678
ABCDEFGH

eighth from left

20 21 22 23 24 25 26
TUV WXYZ

|
‘ fromright |

7th
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Hence, the eighth letter from the left
is H and the seventh letter from the
right is T and there are 11 letters in
between these two.

6. Same position of letters when
arranged alphabetically -

Ex.6 If each letter in the word CADMP is
arranged alphabetically, then the
positions of how many letters will
remain unchanged.

(@)1 (b) 2
(c)3 (d) 4
Ans. (c)
Sol.

Root Word (C

Alphabetical Order /A

A

Hence such letters are D, M, and P.

Type-2 Letter- Pair Based Question

If there are as many letters between two
letters of a word as there are between them
in the English alphabet, then the pair thus
formed between those two letters is called a

letter pair.
5 24 5 3 21 20 9 15 14
E X E C u T I 0O N

Ex.7 How many such pairs of letters are
there in the given word EXECUTION,
which have as many letters between

them in the word as there are
between them in the English
alphabet?

(@)1 (b) 2

(c)3 (d) more than 3

Ans.

(d)

Sol. According to question
So the required letter pair is UX, TU El

and NO i.e. 4.

Type - 3 Word Formation and Alphabet

Arrangement
(i) Changing the letters of a meaningful
word

Ex.8 If the letters of the first and second,
third and fourth, fifth and sixth and so
on are interchanged in the words,
then what will be the tenth letter
when counted from its right?

(@T (b) N

(c)u (d)A

(b)

The word formed by interchanging
the letters of the given
COMMUNICATIONS

OCMMNUCITAOISN

|

Hence, the required alphabet = N

Ans.
Sol.
word

10 th from the right

words from

(ii) Making meaningful
selected / consecutive letters of a

semi-complete word

Ex.9 If any one meaningful word can be
formed from the first, third, fifth and
eighth letters of the word SHARE
HOLDING, be

second letter? If no such word can be

then what will its
formed, give the answer 'X' and if
more than one word can be formed,
give the answer 'Y".
(@)L

(c)S

(e)Y

(e)

(b) E
(d) X

Ans.
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Sol.

Ex.10

Ans.
Sol.

(i)

Ex.11

Ans.
Sol.

The word given according to the
question,

G @®rOH oD DI

|

8th

N G

1st 3rd 5th

New word SEAL = SALE, SEAL = 2
Meaningful word Two meaningful
words formed from it are SALE and

SEAL, so option Y will be correct.

How many meaningful words with
four or more letters can be formed
from the letters of the word
DIALOGUE?

(@) 5 (b) 7

(c)9 (d) 8

(c)

9 words with four or more letters can

be formed from the letters of
DIALOGUE.

For Example -

DIAL, GOAL, GOAD, GILD, GLUE,

GUILD, LOUD, GUIDE, GUILE etc.

Arrange the following numbers of
different letters in such a way that a
meaningful word is formed.

Arrange the numbers of different
letters given below in such a way that
a meaningful word is formed.
GTAENM

1 2 3 45 6

(@) 1,3,2,6,4,5

(b)6,3,5,1,4,2

(c) 1,3,2,5,4,6

(d)e6,3,1,5,4,2

(d)

On arranging the given letters in a
meaningful order, the word MAGNET

is formed which is obtained by
arranging the numbers in the order 6,

3,1,5,4,2.

Type - 4 Letter Group Based Questions

Under this, some groups of three or four
letters are given in the questions asked. The
answer is to be found by arranging these
letter groups according to the instructions
given in the question.

Ex.12 If the letter S is put before them in all
the given words, then how many
words in the new arrangement will
make meaningful English words?

(a) Only SHE

(b) ANT and JUG

(c) Only OLD

(d) TIN and JUG

(e) Only TIN

()

The following is the word in the new

Ans.
Sol.
arrangement.
SHE, SOLD, SANT, STIN, SJUG
Hence in the given words, the letter S
is preceded by only one meaningful
word SOLD.

TYPE-5 RULE BASED ON INSTRUCTION-

In this type of questions, related to English
alphabets are given. Following these rules, it
is to be seen that in which option the given
letter is following the group.

Ex.13 A letter is missing between two
letters.
(a) EGIKM (b) MOQTU
(c) MPQTU (d) MNOPQ

Ans. (a)
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Sol.

Ex.14

Ans.
Sol.

l/
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Ans.
5 7 9 11 13 Sol.
E G T T M
+2 -+2 +2 . +2

So in the EGIKM letter-pair, one letter
is missed between every two letters.

English letters are in the reverse
order of the alphabet.

(a) ABCDE (b) ZYXWV

(c) KLMNO (d) PQRST

(b)

Z Y X W Vv

Hence, the letter pairZY X W V is in
the opposite order of the alphabet.

Example with Solution

1.

Ans.
Sol.

Which letter is exactly between the
letters J and T in the English alphabet?

(@) N (b) O

(c) P (d) Q

(e) None of the letter

(b)

10 11 12 13 14 15 16 17 18 19 2
U K L M N O P Q R § T
le $ ,l
N T 1

The letter O is exactly between J and
T.

Which letter will be exactly between
the 20th letter from the left and the
21st letter from the right in the
English alphabet?
(@) L

()N

(e) No letter

(b) M
(d)O

(b)

ABCDEFGH[JKL%NOPQRSTUVWXYZ

<
From left

Ans.
Sol.

20th

|
< - |
21st Fram right

The 20t letter from the left is T and the 215t
letter from the right is F and the letter M is
exactly in between these two.

If the letters of the word BEAUTIFUL

are rearranged and written
alphabetically, then how many such
letters will be there whose position
will remain unchanged?

(@)1

(b) 3

(c)2

(d) more than three

(a)

According to the question,

BEAUTIFUIL
ABE FI LTV

Hence the position order of only one letter remains
unchanged.

If each vowel of the word DOMAINS is
changed to the letter that follows it

Root Word

Alphabetical Order

according to the English alphabet and
each consonant is changed to the
letter that precedes it according to
the English alphabet and then all the
letters are alphabetically (from left to
left) right), then which of the
following will be at the third position
from the right in the sequence so

formed?

(a)J (b) C
(c)P (d) M
(e)B
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Ans.

Sol.

Ans.

Sol.

Ans.

Sol.

(d)

Given word— DO MAINS

Changing the voweDPMBJN S

Changing the consonant €PbBJ MR

alphabetizing
left to

L [M] P R

T 3 to right
< 3rd toright

letters
right)

Now, these

(from
B C J

Make a meaningful word using each
letter of the word HTUTR only once.
Your answer will be the fifth letter of
the word formed. If more than one
such word is formed, then vyour
answer will be wrong and if no such
word is formed then your answer will
be correct.
(a)H

(c)U

(e)Y

(a)

According

(b)R
(d) X

the
meaningful words formed from the
letter-group HTUTR = TRUTH

Hence, the fifth letter from the left in
TRUTH =H

to question,

What is the letter in the word
WASHINGTON, which when counted
is the same number in the
alphabet?
(@) N
(c)O
(d)

According to question

WAS H I NGIT O N

as

(b) T
(d) G

ABCDEF|GH | J—»aAlphabetical Order

So required letter = G

7.

Ans.
Sol.

Ans.
Sol.

Ans.
Sol.

A set of letters is assigned a number
to each. Putting them in a meaningful
order, select the correct sequence
from the letters of the given answers.
Y M LO S B C|I
1 2 34 5 6 738

(a) 47685321 (b) 51264387
(c) 21645387 (d) 56241387
(b)

By rearranging the letters of Y M L O
SBCI, the wordSYMBOLIC will
be formed. So the correct orderis 51
264387.

In the following question, a word is
given followed by four alternatives.
Out of the four alternatives, only one
option can be made from the letters
of the given root word. Select that
option.

VENTURESOME

(a) ROSTRUM (b) TRAVERSER
(c) SERMON (d) SEVENTEEN
(c)

The word SERMON can be formed
from the letters of the given word.

Which letter can be put after the
words of the following questions to
form new words?

STAG, ENGAG, DAMAG, SEWAG

(a) A (b) S

(c)E (d)P

(c)

If the letter E is placed immediately
after the words STAG, ENGAM,
DAMAG, SEWAG, then completely
new meaningful words STAGE,

ENGAGE, DAMAGE, SEWAGE will be
formed.
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10. The number of letters skipped Q.3 KOLMOGROV - SMIRNOV
between two adjacent letters s (a) MOORINGS (b) ROOMKING
increased by multiples of two. (c) GOVINDA (d) SLIMGROOM
(a) ADIPY (b) JIMRYG Ans. (c)
(c) EHNTC (d) HKBWF Explanation -
Ans. (a) The given word does not contain the letter
Sol. The rule given in series A is being 'D'. Hence the word GOVINDA cannot be
followed. formed from the letters of the given words.
1 4 9 16 25
A D | P ! Q.4 DISINTEGRATION
[ [ ‘ (a) SIGNATURE (b) INTERN
BC || EFGH || LKMNO || QRSTUVWX | (c) SINGER (d) RATION
4 45 17 19 Ans. (a)
So, the desired series = ADIP )
Explanation —

Word Formation

TYPE-1

Q.1 Cannot be formed using the letters
of the given word.
VENTURE
(@) RENT (b) RATE
(c) TURN (d) TRUE
Ans. (d)
Explanation-

The given word does not contain letter 'A'.
Hence, the word RATE cannot be made.

VEIN TIURE =RENT

VEINT URE = TURN

VEN|T UR E| = TRUE
Q.2 IMPOSSIONABLE

(a) IMPOSSIBLE (b) POSSIBLE

(c) IMPOSE (d) IMPASSIVE
Ans. (d)
Explanation -
The given word does not contain the letter
'V'. Hence the word IMPASSIVE cannot be
formed from the letters of the given words.

The given word does not contain the letter
'U". Hence the word SIGNATURE cannot be
formed from the letters of the given words.

Q.5 COMPETITION
(a) TOTEM (b) POETIC
(c) COMPOSE  (d) OPINE
Ans. (c)
Explanation —

The given word does not contain the letter
'S'. Hence the word COMPOSE cannot be
formed from the letters of the given words.

Q.6 TERRORISM
(a) MIRROR (b) ERROR
(c) MORE (d) ROAR
Ans. (d)
Explanation —

The given word does not contain the letter
‘A,
formed from the letters of the given words.

Hence the word ROAR cannot be

Q.7 COMMUNICATION
(a) ACTION (b) UNION
(c) NATION (d) UNISON
Ans. (d)
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Explanation -

The given word does not contain the letter
'S'. Hence the word UNISON cannot be
formed from the letters of the given words.

Q.8 TRANSLATION

(a) TRANSIT (b) TRANSMIT
(c) RATION (d) NATION
Ans. (d)
Explanation -

The given word does not contain the letter
‘M’. Hence the word TRANSMIT cannot be
formed from the letters of the given words.
TRANS|LA|TI|ON = TRANSIT

RAINSL |[ATIO [N = RATION

TRA SL|ATION [= NATION

TECHNOLOGICAL
(a) LOGIC

(c) HATER

Ans. (c)

Explanation -

Q.9
(b) LOAN
(d) COLOGNE

The given word does not contain the letter
‘R”. Hence the word HATER cannot be
formed from the letters of the given words.

TECHNO |LOGIC

GIC[A]L= LOAN
TIEC/H|NO LOG|1C AL= COLOGNE

AlL= LOGIC

TECH|NOL

Q.10 EXAMINATION
(a) MINE

(c) SAME

(c)

(b) TIME
(d) NOTE
Ans.

Explanation —

The given word does not contain the letter
'S'. Hence the word SAME cannot be formed
from the letters of the given words.

[E] xA
[E]xA[M]INA[TION = TIME

[E]XxAMINA[T]I = MINE

MIN

ATION = MINE

Q.11 From
select the word which cannot be

the following alternatives,

formed using the letters of the given

word.
BUILDINGS
(a) BUILD (b) BINDS
(c) SAND (d) DUBS
Ans. (c)
Explanation —

The given word does not contain the letter
‘A,
formed from the letters of the given words.

INGS
[8]ull]L[D]1[N]G[s]
[BU] IL[D]ING[S]

Hence the word SAND cannot be

Q.12 From
select the word which cannot be

the following alternatives,

formed using the letters of the given

word.

COMPLIMENTARY

(a) TRIM (b) TRAPS
(c) PRIME (d) TRAIN

Ans. (b)
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Explanation -

CONV|ICTE [D = CITE

The given word does not contain the letter
'S'. Hence the word TRAPS cannot be
formed from the letters of the given words.

C |ON|VICT|ED |= NODE

COMPLIM|EN|T[A|[R|Y

CI[ON|VIC|TE|D=TONE

COM|R|L IME|[NTA]|RIY

COMPL|  R|ME| NTAR|Y

Q.13 From the following alternatives,
select the word which cannot be
formed using the letters of the given
word.

PROMINENT
(a) TONE (b) MINE
(c) PROPS (d) MORE

Ans. (c)

Explanation -

The given word does not contain the letter

'S'. Hence the word PROPS cannot be

formed from the letters of the given words.

PRI[O[MIN|ENT |= TONE
PRO|MINE[NT= MINE
PIROM [IN|E |[NT= MORE

Q.14 From the following alternatives,
select the word which cannot be
formed using the letters of the given
word.

CONVICTED
(a) CITE (b) NODE
(c) TONE (d) DESK

Ans. (d)

Explanation -

The given word does not contain the letter

'K'. Hence the word DESK cannot be formed

from the letters of the given words.

10
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The series test series has to be studied
carefully to find out whether this series is
following the order/rule or not.

The questions asked under this test can be
classified into the following categories.

1.
2. Alphabet series
3.
There are a few things to keep in mind while

Digit series
Frequency Series of Digits/Characters
doing chain test.

A.
B.

First try to play the whole chain.
If the chain does not work, then we run it
by laughing.

C. Atthe very end run the alternate series

1. Digit series -

In this, a series of marks is given in the
guestions asked. This series is based on
addition,
division, square, square root, cube, cube

subtraction, multiplication,

root etc.

Type - (i) Finding the wrong term in the

series.

In the series sequence, a wrong digit is added
in place of the digit appearing at a particular
place. For this, first of all it should be known
that which term is not changing according to
that rule, that is the wrong term.

Ex.1 Which number is missing in the
following number series?
76, 98, 126, 160, 200, 248, 298

(A) 248 (B) 200
(C) 160 (D) 298
Ans. (A)
Sol. After observing the above series

carefully, we find that the sixth term
of the series is inappropriate

Because the number to be added to
each term is 6 digits more than its first
number.

248

76 9% 126 10 200 298
R N N A AN NN,

+22 +28 +34 +40 +46 452

So instead of 248, there will be 246.

Ex.2 Which numberin the following series
is such that it is inappropriate in the
series?
53,6,10,9,12,17, 15, 18, 23
(A) 6 (B)9
(C) 12 (D) 10

Ans. (D)

Sol. After observing the above series

carefully, we find that the series is
decreasing and increasing in the order
of -2, +3, +5, -2, +3, +5

11

ARRNERE

+3 +5 -2 +3 +5 -2

+3 +5

In the above series, 11 should come
after the digit '6'. Hence the wrong
number in the series is 10.

Directions: Question (1-7) Find the missing
number in the following series.

Q.1 56,42,30,20,7,6
(A) 15

(C) 18

(B)

Explanation-

(B) 12
(D) 14
Ans.

11
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Q.2 1,6,15,?, 45,66,91 Q.6 510,322,404,?
(A) 25 (B) 26 (A) 422 (B) 371
(C) 27 (D) 28 (C) 629 (D) 819
Ans. (D) Ans. (A)
Explanation- Explanation —
- i5 45 66 Of There are even numbers in the
L AL AL A A4 sequence.
+|5 +T) /wf\|13 +1|7 +21| +25 So, ? =422
¥ 9 W Q.7 32,58,92,134,?
So, ? =28 (A) 184 (B) 194
(C) 156 (D) 169
Q3 1,3,7,13,21,31,43,? Ans. (A)
(A) 55 (B) 57 Explanation-
(C) 59 (D) 61 32 58 02 134 |184
Ans. (8) L AL AL A2
Explanation- +26 434 +42 +50
1 3 7 21 31 31 | 'N ’N ’I\
LMo 'N Mo | +8 +8 +8
+2 +4 +6 +8 +10 +12 +14
So,?=184
So, ? =57
Type — ()
?
Q4 05,2,4.5,8,12.5, Completing the series -
nder this, in the given series sequence, a
(A) 17 (B) 16 Under this. in the ei .
(C)16.5 (D) 18 particular place is left blank or is denoted by
Ans. (D) the question mark (?), then the candidates
05 2 22.5 125 are expected to find that sequence and mark
| /N /N /N 1\ ‘ls : 1\ the question mark (?). Select the appropriate
= number to come in place of.
Explanation-
So,?=18 Ex.3 Which of the given number will come
in place of question mark in the
Q5 3,6,18,21,63,66,? series?
(A) 181 (B) 160 16, 23, 31, 40, 50, 61, ?
(C) 147 (D) 198 (A) 81 (B) 83
Ans. (D) (C) 77 (D) 73
Explanation- Ans. (D)
3+3=6,6x3=18 Sol. On observing the above series, we

18+3=21,21x3=63
So,63 +3 =66
?=66x3=198

find that the series is increasing in the
order of +7,+8,+9,+10..........
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Unleash the topper in you
16 23 31 40 50 61 (73 Ex.5 What will be the 10th term of 1st
Lﬂ H H 'H Tu series 3,5, 7, 9......
_ (A) 15 (B) 20
Therefore, the appropriate number to () 12 (D) 21
come in place of the question mark Ans. (D)
will be 73. Sol. 10thterm
Tn=a+(n-1)d
Ex.4 Which number will come in the T10=3+ (10 - 1) x 2
question place in the above series? T10=3 +18
5ad4al15a7a23al1lla29 16a33ag T10 = 21
(a) 11 (b) 22 Hence the 10th term is 21
(b) 29 (d) 34
Ans. (B) Ex.6 If the first term of an arithmetic
+10 8 6 H sequence is 5, the second term is 3
5/4\34\53/11\2‘9/15\53 and the last term is 80, then find the
\/\/‘\/ \/ number of terms.
3 Tl 5 (A) 24 (B) 23
Therefore, the appropriate number to (C) 26 (D) 29
come in place of the question mark Ans. (C)
will be 22. Sol. a=5,d=3,Tn=80,n="
Tn=a+(n-1)d
805+ (n-1)3
There are 2 types of rules of the category (n-1)=80-5/3
based on the rule of the first category. n-1=25
1. Arithmetic series n=25+1
2. Geometric series n=26
Hence the number of posts is 26
1. Arithmetic Series - An arithmetic series is
called a series in which the difference of 2. Geometric Series - Such a series in which
two consecutive terms is equal. the ratio of two consecutive terms is
The number obtained by subtracting the same is called 'Geometric Series'.
preceding term from a term of an A.P. is This ratio is called the 'common ratio' of
called "transition'. the geometric series. The 'common ratio'
If there is the first post of the parallel of a geometric series is obtained by
category and the post is of the post, then dividing a term by its previous term, i.e.
there will be an parallel category. t2/t1=t3/t2=t4/t3= -+ .. .. ... ...
Hence the nth term of the A.P. Thn=a + (n- =tn/tn-1=proportionate
d) t1,t2,13,t4
(1) d (where, a is the first term and d is The middle term is the average of both
the transition) the terms.
t2-t1=t3-12=t4-1t3

13
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If the first term of a geometric series is a Ans. (D)
and the proportion is r, then the nTH Explanation-
term of that geometric series Except the number pair 13-37, in all
Tn=a.r*n-1 the other number-pairs, the second
number is three times the first
Ex.7 What is the 6th term of the series number.
3,9,27,81,......7 10x3=30
(A) 729 (B) 243 11x3=33
(C) 1681 (D) 1747 50 x 3 =150
Ans. (A) but,
Sol. FirstTerma=3 13x3-2=37
Common ratio d=9/3=3
6th termT6 = a. r*n-1 Q.2 Inthe following questions, select the
=3.306-1 odd number pair from the given
=3 x 375 alternatives.
=3 x243 =729 (A) 18 :37 (B) 24 : 47
=3 x243 =729 (C)32:65 (D) 48 : 97
So the 6th term is 729 Ans. (B)
Explanation-
Ex.8 What will be the 10th term of the Number pair 24: Except 47, in all
series 7, 14, 28,...... ? other number-pairs, the second
(A) 3216 (B) 2736 number is one more than twice the
(C) 2684 (D) 3584 first number.
Ans. (D) 18 x 21=37
Sol. First Term a=7 32 x 21 =65
Common ratio=14/7=2 48 x 21=97
10th term but,
T10 = a.rAn-1 24 x 2-1=47
=7 x 270-1 _
= 7 x 249 3.  Alphabet series -
—7x512 Under this, a series of letters related
_ 3584 to the English alphabet is given in the
Hence the 10th term is 3584 given series, in which one or two
letters are omitted, or is represented
by a question mark (?) in that place.
Q.1 Inthe following questions, select the Ex.9 What will come in place of question
odd number pair from the given mark (?) in the given series?
alternatives. IKMPT?
(A) 10.30 (B) 11.33 (A)X (B) W
(C) 50.150 (D) 13.37 ()Y (D) none
Ans. (C)
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nleash the topper in you

“Tot
op
Sol.
10 11 13 hli} 20 ‘2_5
J K M P T (Y
SN A AN
+1 +2 +3 +4 +5
Hence the appropriate letter coming
in place of question mark (?) will be Y.

Ex.10 L7C, N9F, P12l, R16L, ? What will
come at the question mark in this
series?

(A) U210 (B) S21P
(C) s200 (D) T210

Ans. (D)

Sol. Therefore, in place of the question
mark (?), the appropriate number-
letter group will beT210.

Ex.11 What will come in place of the
missing letters of the following
series?
ab__ baabc__ _aabcb_ abcb_
(A) bcaa (B) cbaa
(C) abca (D) aacb

Ans. (B)

12 L 16 18 20
[ _+2 N _+2 P _+2 | R _+2,
7_#2 9 _+3 12 44 16 _+5 :%
C+3 F +3 1 _+3 L 43,
3 ] a 12 15

Q.1 In the following question, select the
odd letters from the given
alternatives.

(A) mop (B) prs
(C) tvw (D) xyz
Ans. (D)
Explanation-

13 2 s t1 16
m - 5 0 - > p
- +2 18 +1 i
p > > §
20 +2 22 +1 23
t > 0 > W
weTq
+ ¥
24 1 25 1 26
X >y > Z

Q.2 Inthe following questions, select the
odd letters from the given
alternatives.

(A) AB (B) EG
(c)u (D) oP
Ans. (B)
Explanation-
1 +1 2
A — =B
9 1 10
| —>]
15 1 46
0O —=P
- 5 +2 7
E——>G

Q.3 Inthe following questions, select the
odd letters from the given
alternatives.

(A) PM (B) DA
(C)RP (D) oL
Ans. (C)
Explanation -
16 -3 13
P — =M
4 -3 1
D —=A
15 -3 12
0O ——=>1L
Rk |
18 -2 16

R ————=>P
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